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Look it Up!
PART A: Grammar and Vocabulary . Y owos )
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 09 dxiuo U £Y dxivo
choice on your answer sheet. Y oSt by
. * " Understanding
61- The pictures of the queen were of great value to historians because they had been taken ; "“’i"“
)
< Y'# dxivo 5 \D Axivo
at one of her ... public appearances.

1) few 2) little

3)alot 4) much

62- What was the name of the student to ... you and Ben were speaking in the schoolyard?
1) who 2) that

3) whom 4) which

63- My parents wanted me to have the experience of studying in a foreign country and learning ...

language.
1) both 2) enough
3) most 4) another

64- Banana, orange juice, and cream may seem an odd ... but together they make a delicious drink.
1) definition 2) condition

3) combination 4) relationship

65- With the widespread transmission of the virus in crowded areas, we cannot take the bus anymore
and need to use some other ... of transportation.
1) principles 2) functions

3) means 4) ethics

66- The degree to which this goal is important to people varies ... within societies and among different cultures.
1) accidentally 2) unexpectedly

3) widely 4) wisely

67- It will be very easy for you to take out a loan from a bank to buy a house if you ... the conditions

the bank lays down before you.

1) meet 2) range
3) belong 4) solve

68- As the job involves handling large amounts of money, it's essential that our workers be ... .
1) honest 2) native

3) popular 4) strong
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69- The president believes that the health officials are just ... the risks of Coronavirus without taking
people’s means of living into consideration.
1) protecting 2) dedicating

3) magnifying 4) donating

70- Hamilton also states that ... education includes a variety of strategies for using students’ mother
tongue in addition to the target language.
1) peaceful 2) bilingual

3) confusing 4) homemade

71- Soon after she began searching, Anita found it a lot more difficult for a woman to get a high-
paying job than she had ... it would be.
1) supposed 2) compiled

3) supported 4) contained

72- From the description Janet gave in her letter, it was easy to ... what her new apartment was like.
1) keep 2) solve

3) seck 4) imagine

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The first recorded case of an airline passenger becoming seriously angry or violent during a flight, an
event now known as “air rage”, happened in 1947 on a flight from Havana to Miami. A drunk man
attacked another passenger and bit a flight attendant. The frequency of air rage has ... (73) ... out of
proportion to the growth of air travel. Until recently few data were collected about air rage, but
those that have been, indicate that passengers are ... (74) ... probable to cause trouble or become
involved in violent acts. For example, in 1998 there were 266 air rage events out of nearly four
million passengers, a 400% increase from 1995. Air travel ... (75) ... rise by 5% internationally by
2021 leading to increased airport crowding. This, combined with the flying public’s increased

aggression, means that air rage may become a big ... (76) ... in coming years.

73- 1) expanded 2) arranged 3) regarded 4) provided
74- 1) directly 2) effectively 3) increasingly 4) suddenly
75- 1) that is predicted to 2) is predicted to

3) has predicted that 4) which predicts

76- 1) claim 2) issue 3) purpose 4) symbol
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PART C: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Galaxies are the major building blocks of the universe. A galaxy is a big family of many millions of

stars, and it is held together by its own gravitational field. There are two main types of galaxies;
spiral and elliptical.

The Milky Way is a spiral galaxy: a flattish disc of stars with two spiral arms coming out from its
center. About one-quarter of all galaxies have this shape. Spiral galaxies are well supplied with the
interstellar gas in which new stars form; as the rotating spiral pattern goes around the galaxy, it
compresses gas and dust, and forms young stars.

The elliptical galaxies have a symmetrical elliptical or spheroidal shape with no obvious structure.
Most of their member stars are very old and since ellipticals are empty of interstellar gas, no new
stars are forming in them. The biggest and brightest galaxies in the universe are ellipticals with
masses of about 1013 times greater than that of the Sun; these giants may frequently be sources of
strong radio emission, in which case they are called radio galaxies. About two-thirds of all galaxies

are elliptical.

77- According to the passage, a galaxy is ... .
1) a body moving in an orbit around a star
2) all of space and time and their contents
3) a family of stars held together by its gravitational field

4) an object consisting of plasma held together by its gravitational field

78- What does the second paragraph mainly discuss?
1) Spiral galaxies
2) Major categories of galaxies
3) How elliptical galaxies are formed

4) Difference between elliptical and spiral galaxies

79- The word “which” in paragraph 2 refers to ... .
1) galaxy 2) gas
3) pattern 4) dust

80- According to the passage, which of the following is NOT true about elliptical galaxies?
1) They are the largest galaxies.
2) They mostly contain old stars.
3) They contain a high amount of interstellar gas.

4) They may have a spheroidal shape.




